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58.85
148.73
54.58
41.52
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9.10
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5,460
71,358
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1,308.55
1,302.07
1,308.64
1,306.40
1,303.12
1,313.98
1,315.01
1,142.91

48,358
2,195
46,163
38,534
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C-P2e 71&7t4 1,184.12 1,291.87 9.10
C-e 71&7t4 1,191.46 1,299.38 9.06
S 7|1&7t4 1,000.85 1,092.04 9.11
S-P 71&7t4 1,000.80 1,092.11 9.12
S-R 71&7t4 1,001.20 1,092.66 9.14
F) 71E7tH0l2 EXAPL B EASHE AS(ONY), ES@Mete 22 E= EHIEBIE 8 Ao MBEE 7HH02 HEQ| 2AHIZAS WA ol57 5
A2 Lhe 7t g Yl
X 2 FL (chel: kel wotz))
T2 2HIXN =Y | 2SR ==Y 2Hj2=EtT il H|
23 A= 2HF K==
: ;TH'L :ﬂf;ﬁ;o;zz 2024.7.3 492 54,911 1308.55 1299.53
A 2024.7. 3. 0 24,918 1302.07 1302.07
A-e 2024.7. 3. 33 9,463 1308.64 1305.16
C 2024.7. 3. 0 4,004 1306.4 1306.4
C-e 2024.7. 3. 19 10,629 1299.38 1297.62
C-F 2024.7. 3. 3 602 1303.12 1298.78
C-P1 2024.7. 3. 0 122 1313.98 1310.03
C-Ple 2024.7. 3. 11 2,333 1315.01 1310.11
c-p2 2024.7. 3. 0 27 1142.91 1137.77
C-P2e 2024.7. 3. 9 2,659 1291.87 1288.4
S 2024.7. 3. 0 5 1092.04 1085.8
S-p 2024.7. 3. 0 7 1092.11 1085.71
S-R 2024.7. 3. 0 8 1092.66 1086.11
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»7|1ZHFH) ==
712 )+ E BE Sol AMt28Rn AIIEY(EIE) M HEQ| J|HE LY ES HQ T £ o, HuX[(HX|0rT) datet HEO|
IHE H|wsto] & = A& CH
(EH3 %)
T& =2 374 =2 67 2 971 22 1270
(=] =235 MR==
; iﬂ;éﬂiﬁ%}; ‘ég 9.23 2033 37.24 30.86
(Bl mX|2 CHH| A3 (1.66) (4.22) 471 (1.33)
Z 2 (Class) & ozt
A 9.00 19.83 36.37 -
(HlmX| 2= CHH| b (1.43) (3.72) (3.84) -
A-e 9.10 20.05 36.74 -
(Bl mX|2 THH| A3 (1.53) (3.94) 4.21) -
C 8.88 19.56 35.90 -
(Bl mX|2= THH| A3 (1.31) (3.45) (3.37) -
C-F 9.13 20.10 36.84 30.31
(HlmX| 2= CHH| 41 (1.56) (3.99) 431 (0.78)
C-P1 9.09 20.01 36.67 -
(Bl mX|2 THH| A3 (1.52) (3.90) (4.14) -
C-Ple 9.11 20.07 36.77 -
(Bl mX|2 CHH| A3 (1.54) (3.96) (4.24) -
C-P2 9.06 - - -
(HlmX| == CHH| 4 1h (1.49) - - -
C-P2e 9.10 20.04 36.72 -
(HlmX| 2= CHH| d1h (1.53) (3.93) (4.19) -
C-e 9.06 19.95 36.59 -
(Bl mX|2 THH| A3 (1.49) (3.84) (4.06) -
S 9.11 - - -
(HlmX| 2= CHH| 4 1h (1.54) - - -
S-p 9.12 - - -
(HlmX| 2= CHH| b (1.55) - - -
S-R 9.14 - - -
(Bl mX|2 THH| A3 (1.57) - - -
H| W X|==(HIX| Ot 2) 7.57 16.11 32.53 29.53

Z)H| mX|4=(HM K| 0F3): NASDAQ100 USD Index(T-1) X 90% + Call X 10%

X 9| EXAH2 A GatE LIEHE E D[2je] 28EIE BEHSE
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Ho Ol
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30.86

(HIRX|== CiH] g2

(1.33)

2 (Class) & o1zt

A

(Bl mX|== CiH| gah

A-e

(BImAI= ofel A1

C

(HlmX|== CiiH| gah

C-F

30.31

(Bl mX|== CiiH| gah

(0.78)

C-P1

(HlmX|== CiH| gah

C-Ple

(HlmX|== TiiH| gah

C-pP2

(HlmX|== CiiH| gah




C-P2e

(Bl R|= o

C-e

(BRI o

S

(Bl A= o

S-p

(Bl A= Ch

S-R

(BRI Ch

g1

B X[ %=(# X[ OF)

29.53

Z)H| mX|$=(HX|0F3): NASDAQ100 USD Index(T-1) X 90% + Call X 10%

X 9 EXHENE 0tA datE LEHE 2 0|2ie] 28/¥ntE E¥sts A2 oL
> S (9l #Harel)
=2 TIFAH AFEZ EHXIAF = O|
25 =2 _ TecE SE4 ~eid el B
A XA og |HEEA LU 2o HEXA 7|Et o=
™| 0 0 0 2,679 -100 0 39 -1 2,617
=7 0 0 0 5,064 -132 0 0 56 -2 4,987
4. Xpotsig
p KpitdEE
M dee 58 Sofl AH28EIDM Zd 7|EY (2T € MEJL HR5tD s AHite] LHY S Zt XpitE 9 SSHHE Solg = EL ok =S
f=E Sofl 7|2t oY 7to| xpitH LEH|FZ S Hug = ASL
(THS: BHOERL, %)
&Lt =2 THAY AFZE E B X|AL = gl
S3ld = oA F S £ XA CH|C= & J1E} RpALS Ol
Tz A X G TS &R | ZLU 2| S XAk 7|Ef o=
KRW 0 0 0 65,211 -33 0 0 0 0 270 11,369 76,818
(1.00) (0.00) (0.00) (0.00) (84.89)| -(0.04)] (0.00) (0.00) (0.00) (0.00) (0.35) (14.80)|  (100.00)
A 0 0 0 65,211 -33 0 0 0 0 270 11,369 76,818
*): HEHIE
A 7| =
IHitE FEH1E FpitE JLEH|IE
7B —1534 7|5} — 145
T IE 203 1043 S E 2 S 1035
EER 0 Egriat o
224 D REMH 0
DHEAE00 OpAEAHT 0 0d)
TEET I 76 TEET N £ 50
5e o =
HE D HH 0
FH0 =4 o
-20 0 20 40 &0 80 100 -20 0 20 40 B0 80 100
» EXCHY A9 1055
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=9 &= =549 H| & =9 T= 549 HlS
1 e EXNSH TIGER O] = L}AEHMOOTR(H) 16.78 6 e EXEA KODEX O|ZLIAEHQ0M S (H) 6.53
2 e EXSH KODEX O|=2/E|310(H) 15.12 7 S EAESH ACE O|=LFAEHM00 6.48
3 7|E} REPOON£=(20240702) 14.45 8 S EXSH TIGER O] =& 2} & m|Of etk = M| L} A EF 4.80
4 e EXSH KODEX O|=LFAEH100(H) 10.40 9 U EASH KBSTAR O|=L}AEHMQ0 471
5 e EXSH TIGER O|=E|2TOP10 INDXX 8.30 10 et EXEH KBSTAR O|=EH=X|NYSE(H) 3.15
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SHAHEA 0.00 0.00 0.00 0.00
A28 A 10.26 0.08 16.99 0.08
oY | A 16.03 0.12 26.55 0.12
H XA BB AL EF AR 0.96 0.01 1.59 0.01
UEFALR EHE| 3| AL 0.42 0.00 0.69 0.00
LR 27.67 0.22 4583 0.22
7|EtH| & *2 0.35 0.00 0.67 0.00
- EiinT')injji 0.63 0.00 1.09 0.01
= AT ET ©
:;LI MHIf sz 2.44 0.02 3.30 0.02
oA 3.08 0.02 439 0.02
SHHHA 0.00 0.00 0.00 0.00
Rpet2 8 AL 2.91 0.08 8.72 0.08
EHO§ | A 1.09 0.03 3.27 0.03
HET A 2ES| AR EF AR} 0.27 0.01 0.82 0.01
ULEALR 22| B[ AL 0.12 0.00 0.35 0.00
243 439 0.12 13.17 0.12
7|EtH|§ 72 0.10 0.00 0.34 0.00
tOiol, SheE 0.18 0.00 0.56 0.01
o ZAENES 5
=SH MUl a2 0.69 0.02 1.60 0.01
g —
| 0.87 0.02 2.16 0.02
SHAHEA 0.00 0.00 0.00 0.00
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